# International Journal of Advance Research in Science and Engineering

# Volume No.07, Issue No.10, October 2018

# www.ijarse.com

IJARSE ISSN: 2319-8354

# An Integral Mean Estimate for the Polar Derivative of a Polynomial whose zeros are within a circle

#### Idrees Qasim, A. Liman

Department of Mathematics, National Institute of Technology, Srinagar, India-190006 E-mail: idreesf3@gmail.com, abliman@rediffmail.com

Abstract. Let  $D_{\alpha}p(z)$  denote the polar derivative of a polynomial p(z) of degree n with respect  $\alpha$ . In this paper, we obtain certain integral inequalities for the polar derivative  $D_{\alpha}$  of polynomials of the form  $p(z) := a_n z^n + \sum_{\nu=\mu}^n a_{n-\nu} z^{n-\nu}$ ,  $1 \le \mu \le n$  having all zeros in the disc  $|z| \le k$ ,  $k \le 1$ . Our result refines and generalizes many prior results involving both polar as well as ordinary derivative.

Keywords: Polar derivative, Complex Polynomials, Inequalities, Zeros.

Mathematics Subject Classication (2000): 30A06, 30A64.

#### 1. Introduction

Let  $F_n$  denote the space of complex polynomials  $F(z) := \sum_{j=0}^{n} a_j z^j$  of degree  $n \ge 1$ . If  $p \in F_n$ , then concerning the estimate of |p'(z)| on the unit circle, we have the following well-known result due to Bernstein [6].

$$\max_{|z|=1} |p'(z)| \le n \max_{|z|=1} |p(z)|. \tag{1.1}$$

If we consider the class of polynomials  $f \in F_n$  having all zeros in  $|z| \leq 1$ , then the bound in inequality (1.1) can be considerably improved. In fact, Turán [16] proved that if  $p \in F_n$  and p(z) has all zeros in  $|z| \leq 1$ , then inequality (1.1) can be replaced by

$$\max_{|z|=1} |p'(z)| \ge \frac{n}{2} \max_{|z|=1} |p(z)|. \tag{1.2}$$

As an extension of (1.2), it was shown by Malik [11] that if  $p \in F_n$  has all zeros in  $|z| \le k$  where  $k \le 1$ , then

$$\max_{|z|=1} |p'(z)| \ge \frac{n}{1+k} \max_{|z|=1} |p(z)|. \tag{1.3}$$

Since,

$$\left\{ \int\limits_{0}^{2\pi} |p(e^{i\theta})|^s d\theta \right\}^{\frac{1}{s}} \to \max_{0 \le \theta < 2\pi} |p(e^{i\theta})| \ as \ s \to \infty$$

which is the basic result from Analysis (for example see [14], p-70 or [15], p-91), it is an interesting problem to extend inequalities (1.1), (1.2) and (1.3) to  $L^s$  spaces. In this direction

Zygmund [17] was the first who extended inequality (1.1) to  $L^s$ ,  $s \ge 1$  spaces and proved the following result.

$$\left\{ \int_{0}^{2\pi} |p'(e^{i\theta})|^{s} d\theta \right\}^{\frac{1}{s}} \le n \left\{ \int_{0}^{2\pi} |p(e^{i\theta})|^{s} d\theta \right\}^{\frac{1}{s}}. \tag{1.4}$$

# International Journal of Advance Research in Science and Engineering 🔑

# Volume No.07, Issue No.10, October 2018

## www.ijarse.com

IJARSE ISSN: 2319-8354

Arestöv [1] proved that inequality (1.4) remains true for 0 < s < 1 as well.

The result is best possible and equality holds for  $p(z) = tz^n$ ,  $t \neq 0$ . If we let  $s \to \infty$ , we get inequality (1.1).

As an extension of inequality (1.3), to  $L^s$ , s > 0 space, we have the following inequality.

$$n \left\{ \int_{0}^{2\pi} |p(e^{i\theta})|^{s} d\theta \right\}^{\frac{1}{s}} \leq \left\{ \int_{0}^{2\pi} |1 + ke^{i\theta}|^{s} d\theta \right\}^{\frac{1}{s}} \left\{ \int_{0}^{2\pi} |p'(e^{i\theta})|^{s} d\theta \right\}^{\frac{1}{s}}. \tag{1.5}$$

Inequality (1.5) was found by Aziz [2].

As a generalization of inequality (1.5) Aziz and Ahemad [3] proved that if  $p \in F_n$  having all its zeros in  $|z| \le k$ ,  $k \le 1$ , then for each s > 0, p > 1, q > 1 with  $p^{-1} + q^{-1} = 1$ ,

$$n \left\{ \int_{0}^{2\pi} |p(e^{i\theta})|^{s} d\theta \right\}^{\frac{1}{s}} \leq \left\{ \int_{0}^{2\pi} |1 + ke^{i\theta}|^{qs} d\theta \right\}^{\frac{1}{qs}} \left\{ \int_{0}^{2\pi} |p'(e^{i\theta})|^{ps} d\theta \right\}^{\frac{1}{ps}}. \tag{1.6}$$

Consider the class of polynomials  $F_{n,\mu} := a_n z^n + \sum_{\nu=\mu}^n a_{n-\nu} z^{n-\nu}$ ,  $1 \le \mu \le n$  of degree n.  $F_{n,\mu}$  is a linear space and  $F_{n,1} = F_n$ . For these class of polynomials Aziz and Shah [5] generalized inequality (1.6) and proved that, if  $p \in F_{n,\mu}$  having all zeros in  $|z| \le k$ ,  $k \le 1$ , then for s > 0

$$n \left\{ \int_{0}^{2\pi} |p(e^{i\theta})|^{s} d\theta \right\}^{\frac{1}{s}} \leq \left\{ \int_{0}^{2\pi} |1 + k^{\mu} e^{i\theta}|^{s} d\theta \right\}^{\frac{1}{s}} \left\{ \int_{0}^{2\pi} |p'(e^{i\theta})|^{s} d\theta \right\}^{\frac{1}{s}}. \tag{1.7}$$

For any complex number  $\alpha$  consider the operator  $D_{\alpha}$  which maps a polynomial p(z) of degree n into

$$D_{\alpha}p(z) := np(z) + (\alpha - z)p'(z).$$

The operator  $D_{\alpha}p(z)$  is known as polar differentiation of p(z) with respect to  $\alpha$ .  $D_{\alpha}p(z)$  is a polynomial of degree at most n-1 and it generalizes the ordinary derivative in the sense that

$$\lim_{\alpha \to \infty} \frac{D_{\alpha}p(z)}{\alpha} = p'(z).$$

As an extension of inequality (1.4) to the polar derivative of polynomial, we have the following inequality.

$$\left\{ \int_{0}^{2\pi} |D_{\alpha} p(e^{i\theta})|^{s} d\theta \right\}^{\frac{1}{s}} \leq n(|\alpha|+1) \left\{ \int_{0}^{2\pi} |p(e^{i\theta})|^{s} d\theta \right\}^{\frac{1}{s}}, \tag{1.8}$$

The inequality (1.8) was first proved by Govil et al [9] but the proof of the theorem was not correct as was first pointed out by Aziz and Rather [4] who in the same paper have given

the correct proof of the inequality (1.8) for  $s \ge 1$ . The inequality (1.8) is then independently proved by Rather [13] for s > 0. Recently, Dewan et al [7] proved that for every real or complex number  $\alpha$  with  $|\alpha| \ge k$  and for each s > 0,

$$n(|\alpha| - k) \left\{ \int_{0}^{2\pi} |p(e^{i\theta})|^{s} \right\}^{\frac{1}{s}} \leq \left\{ \int_{0}^{2\pi} |1 + ke^{i\theta}|^{s} d\theta \right\}^{\frac{1}{s}} \max_{|z|=1} |D_{\alpha}p(z)|.$$
 (1.9)

# Volume No.07, Issue No.10, October 2018

## www.ijarse.com

ISSN: 2319-8354

In this paper, we besides extending inequality (1.9) to the class  $F_{n,\mu}$  of polynomials, also find its generalization and refinement which in turn generalizes and refines many other results proved earlier.

#### 2. Main Results.

In this section we state our main results:

Theorem 1. Let  $p \in \mathcal{P}_{n,\mu}$ ,  $1 \le \mu \le n$ , having all its zeros in  $|z| \le k$ ,  $k \le 1$ , then for real or complex numbers  $\alpha$ ,  $\beta$  with  $|\alpha| \ge A_{\mu}$ ,  $|\beta| \le 1$  and s > 0,

$$n(|\alpha| - A_{\mu}) \left\{ \int_{0}^{2\pi} \frac{\left| p(e^{i\theta}) + \frac{\beta A_{\mu}}{k^{n}} m_{k} \right|^{s}}{\left( |D_{\alpha} p(e^{i\theta})| - \frac{nA_{\mu}}{k^{n}} m_{k} \right)^{s}} d\theta \right\}^{\frac{1}{s}} \leq \left\{ \int_{0}^{2\pi} |1 + A_{\mu} e^{i\theta}|^{s} d\theta \right\}^{\frac{1}{s}}, \tag{2.1}$$

where

$$A_{\mu} = \frac{n(|a_n| - \frac{m_k}{k^n})k^{2\mu} + \mu|a_{n-\mu}|k^{\mu-1}}{n(|a_n| - \frac{m_k}{k^n})k^{\mu-1} + \mu|a_{n-\mu}|}.$$
$$m = \min_{|z|=k} |p(z)|.$$

Next, we prove the following result.

**Theorem 2.** Let  $p \in F_{n,\mu}$  having all zeros in  $|z| \le k$ ,  $k \le 1$ , then for every real or complex numbers  $\alpha$ ,  $\beta$  with  $|\alpha| \ge A_{\mu}$ ,  $|\beta| \le 1$ , s > 0, p > 1, q > 1 with  $p^{-1} + q^{-1} = 1$ ,

$$n(|\alpha| - A_{\mu}) \left\{ \int_{0}^{2\pi} \left| p(e^{i\theta}) + \frac{\beta A_{\mu}}{k^{n}} m \right|^{s} d\theta \right\}^{\frac{1}{s}} \le \left\{ \int_{0}^{2\pi} |1 + A_{\mu}e^{i\theta}|^{ps} d\theta \right\}^{\frac{1}{ps}} \left\{ \int_{0}^{2\pi} \left( |D_{\alpha}p(e^{i\theta})| - \frac{nA_{\mu}}{k^{n}} m \right)^{qs} d\theta \right\}^{\frac{1}{qs}},$$

$$(2.3)$$

where  $A_{\mu}$  and m are same as defined in Theorem 1.

Letting  $q \to \infty$  so that p = 1 in Theorem 2, we get the following result.

Corollary 2.1. Let  $p \in F_{n,\mu}$  having all zeros in  $|z| \le k$ ,  $k \le 1$ , then for every real or complex numbers  $\alpha$ ,  $\beta$  with  $|\alpha| \ge A_{\mu}$ ,  $|\beta| \le 1$ , s > 0,

$$n(|\alpha| - A_{\mu}) \left\{ \int_{0}^{2\pi} \left| p(e^{i\theta}) + \frac{\beta A_{\mu}}{k^{n}} m \right|^{s} d\theta \right\}^{\frac{1}{s}} \le \left\{ \int_{0}^{2\pi} |1 + A_{\mu}e^{i\theta}|^{s} d\theta \right\}^{\frac{1}{s}} \left\{ \max_{|z|=1} |D_{\alpha}p(z)| - \frac{nA_{\mu}}{k^{n}} m \right\}. \tag{2.4}$$

Also if we let  $p \to \infty$  so that q = 1 in Theorem 2, then under the same hypothesis as Corollary 2.1, we get the following inequality.

$$n(|\alpha| - A_{\mu}) \left\{ \int_{0}^{2\pi} \left| p(e^{i\theta}) + \frac{\beta A_{\mu}}{k^{n}} m \right|^{s} d\theta \right\}^{\frac{1}{s}} \le (1 + A_{\mu}) \left\{ \int_{0}^{2\pi} \left( |D_{\alpha} p(e^{i\theta})| - \frac{nA_{\mu}}{k^{n}} m \right)^{s} d\theta \right\}^{\frac{1}{s}}, \quad (2.5)$$

# International Journal of Advance Research in Science and Engineering 🔑

# Volume No.07, Issue No.10, October 2018

## www.ijarse.com

IJARSE ISSN: 2319-8354

where  $A_{\mu}$  and m are same as defined in Theorem 1.

If we divide both sides of inequality (2.3) by  $|\alpha|$  and Let  $|\alpha| \to \infty$ , we get the following result.

Corollary 2.2. Let  $p \in F_{n,\mu}$  having all zeros in  $|z| \le k$ ,  $k \le 1$ , then for every real or complex number  $\beta$  with  $|\beta| \le 1$ , s > 0, p > 1, q > 1 with  $p^{-1} + q^{-1} = 1$ ,

$$n \left\{ \int_{0}^{2\pi} \left| p(e^{i\theta}) + \frac{\beta A_{\mu}}{k^{n}} m \right|^{s} d\theta \right\}^{\frac{1}{s}} \le \left\{ \int_{0}^{2\pi} |1 + A_{\mu}e^{i\theta}|^{ps} d\theta \right\}^{\frac{1}{ps}} \left\{ \int_{0}^{2\pi} |p'(e^{i\theta}|^{qs} d\theta) \right\}^{\frac{1}{qs}}. \tag{2.6}$$

Letting  $s \to \infty$  in inequality (2.3) and choosing argument of  $\beta$  suitably with  $|\beta| = 1$ , we get the following refinement of a result due to Dewan, Singh and Lal [8].

Corollary 2.3. Let  $p \in F_{n,\mu}$  having all zeros in  $|z| \le k$ ,  $k \le 1$ , then for every real or complex number  $\alpha$  with  $|\alpha| \ge A_{\mu}$ ,

$$\max_{|z|=1} |D_{\alpha}p(z)| \geq \frac{n(|\alpha|-A_{\mu})}{1+A_{\mu}} \Big\{ \max_{|z|=1} |p(z)| + \frac{A_{\mu}}{k^n} \min_{|z|=k} |p(z)| \Big\} + \frac{nA_{\mu}}{k^n} \min_{|z|=k} |p(z)|.$$

Equivalently,

$$\max_{|z|=1} |D_{\alpha}p(z)| \ge \frac{n}{1+A_{\mu}} \Big\{ (|\alpha| - A_{\mu}) \max_{|z|=1} |p(z)| + (|\alpha| + 1) \frac{A_{\mu}}{k^{n}} \min_{|z|=k} |p(z)| \Big\}. \tag{2.7}$$

#### 3. Lemmas

For the proof of these theorems we need the following two lemmas which are due to Mir et al [12].

**Lemma 1.** If  $p \in F_{n,\mu}$  having all its zeros in  $|z| \le k$  where  $k \le 1$  and  $q(z) = z^n \overline{p(\frac{1}{\overline{z}})}$ , then for |z| = 1,

$$|q'(z)| \le A_{\mu}|p'(z)| - \frac{nA_{\mu}}{k^n}m$$

and

$$\frac{\mu|a_{n-\mu}|}{n(|a_n| - \frac{m}{k^n})} \le k^{\mu},$$

where  $m = \min_{|z|=k} |p(z)|$  and  $A_{\mu}$  is same as defined in Theorem 1.

Lemma 2. If  $p \in F_{n,\mu}$  having all its zeros in  $|z| \le k$  where  $k \le 1$ , then

$$A_{\mu} \leq k^{\mu}$$
,

where  $A_{\mu}$  is as defined in Theorem 1.

#### 4. Proofs of Theorem.

**Proof of Theorem 1.** Let  $q(z) = z^n \overline{p(\frac{1}{z})}$ , then  $p(z) = z^n \overline{q(\frac{1}{z})}$ . Therefore for |z| = 1,

$$|q'(z)| = |np(z) - zp'(z)|, |p'(z)| = |nq(z) - zq'(z)|.$$
 (4.1)

Now for every real or complex number  $\beta$  with  $|\beta| \le 1$ , we have by use of Lemma 1 and (4.1) for |z| = 1,

$$\left| q'(z) + \frac{n\overline{\beta}A_{\mu}z^{n-1}}{k^n} m \right| \le |q'(z)| + \frac{nA_{\mu}}{k^n} m \le A_{\mu} |p'(z)| = A_{\mu} |nq(z) - zq'(z)| \tag{4.2}$$

# International Journal of Advance Research in Science and Engineering

# Volume No.07, Issue No.10, October 2018



IJARSE ISSN: 2319-8354

and

$$|D_{\alpha}p(z)| \ge |np(z) + (\alpha - z)p'(z)| \ge (|\alpha| - A_{\mu})|p'(z)| + \frac{nA_{\mu}}{k^n}m.$$
 (4.3)

Inasmuch as p(z) has all zeros in  $|z| \le k$  where  $k \le 1$ , by Guass-Lucas Theorem all zeros of p'(z) also lie in  $|z| \le k \le 1$ . Therefore  $z^{n-1}\overline{p'(\frac{1}{z})} = nq(z) - zq'(z)$  does not vanish in |z| < 1. Hence,

$$w(z) = \frac{z\left(q'(z) + \frac{n\overline{\beta}A_{\mu}z^{n-1}}{k^n}m\right)}{A_{\mu}(nq(z) - zq'(z))}$$

is analytic in  $|z| \le 1$  and by inequality (4.2),  $|w(z)| \le 1$  for |z| = 1. Furthermore w(0) = 0. Thus the function  $1 + A_{\mu}w(z)$  is subordinate to the function  $1 + A_{\mu}z$  for |z| = 1. Hence by well-known property of subordination ([10], p-422), we have for s > 0

$$\int_{0}^{2\pi} |1 + A_{\mu}w(e^{i\theta})|^{s} d\theta \le \int_{0}^{2\pi} |1 + A_{\mu}e^{i\theta}|^{s} d\theta. \tag{4.4}$$

Now,

$$1 + A_{\mu}w(z) = \frac{n\left(q(z) + \frac{\overline{\beta}A_{\mu}z^n}{k^n}m\right)}{nq(z) - zq'(z)}.$$

Therefore for |z| = 1, we have by use of equation (4.1)

$$n\left|q(z) + \frac{\overline{\beta}A_{\mu}z^n}{k^n}m\right| = |1 + A_{\mu}w(z)||p'(z)|.$$

Which further implies

$$n\left|z^{n}\overline{p\left(\frac{1}{\overline{z}}\right)} + \frac{\overline{\beta}A_{\mu}z^{n}}{k^{n}}m\right| = |1 + A_{\mu}w(z)||p'(z)|.$$

Hence for |z| = 1, we get

$$n |p(z) + \frac{\beta A_{\mu}}{k^n} m| = |1 + A_{\mu} w(z)||p'(z)|.$$

Thus with the help of inequality (4.3), we obtain

$$n(|\alpha| - A_{\mu}) \left\{ \int_{0}^{2\pi} \frac{\left| p(e^{i\theta}) + \frac{\beta A_{\mu}}{k^{n}} m_{k} \right|^{s}}{\left( |D_{\alpha} p(e^{i\theta})| - \frac{n A_{\mu}}{k^{n}} m_{k} \right)^{s}} d\theta \right\}^{\frac{1}{s}} \leq \left\{ \int_{0}^{2\pi} |1 + A_{\mu} w(e^{i\theta})|^{s} d\theta \right\}^{\frac{1}{s}},$$

which gives the required result with the help of (4.4).

Proof of Theorem 2. As in Theorem 1 we have

$$n^{s}(|\alpha| - A_{\mu})^{s} \int_{0}^{2\pi} \left| p(e^{i\theta}) + \frac{\beta A_{\mu}}{k^{n}} m \right|^{s} d\theta \le \int_{0}^{2\pi} |1 + A_{\mu} w(e^{i\theta})|^{s} \left( D_{\alpha} p(e^{i\theta}) | - \frac{n A_{\mu}}{k^{n}} m \right)^{s} d\theta$$

Since p > 1 q > 1 and  $p^{-1} + q^{-1} = 1$ , therefore by Holders Inequality, we obtain

$$n(|\alpha| - A_{\mu}) \left\{ \int_{0}^{2\pi} \left| p(e^{i\theta}) + \frac{\beta A_{\mu}}{k^{n}} m \right|^{s} d\theta \right\}^{\frac{1}{s}} \leq \left\{ \int_{0}^{2\pi} |1 + A_{\mu} w(e^{i\theta})|^{ps} d\theta \right\}^{\frac{1}{ps}} \left\{ \left( D_{\alpha} p(e^{i\theta}) | - \frac{nA_{\mu}}{k^{n}} m \right)^{qs} d\theta \right\}^{\frac{1}{qs}}$$

which proves theorem 2 completely.

# International Journal of Advance Research in Science and Engineering Volume No.07, Issue No.10, October 2018 IJARSE WWW.ijarse.com ISSN: 2319-8354

#### References

- V.V. Arestöv, On integral inequalities for trigonometric polynomials and their derivatives, IZV. Akad. Nauk. SSSR., Ser. Met., 45, 3-22 (1981).
- [2] A. Aziz, Integral mean estimate for polynomials with restricted zeros, J. Approx. Theory, 55(1988), 232-239.
- [3] A. Aziz and N. Ahemad, Integral mean estimate for polynomials whose zeros are within a circle, Glas. Mat. Ser. III, 31(1996), 229-237.
- [4] A. Aziz, N.A. Rather, On an inequality concerning the polar derivative of a polynomial, Proc. Indian Acad. Sci. Math. Sci., 117(2003), 349-357.
- [5] A. Aziz, W.M. Shah, An Integral mean estimate for polynomials, Indian J. Pure and Appl. Math. 28 (1997), 1413-1419.
- [6] S.N. Bernstein, Sur eordre de la meilleure approximation des functions continues par des polynomes de degre donne, Mem. Acad. R. Belg. 4, 1103 (1912).
- [7] K. K. Dewan, N. Singh, A. Mir and A. Bhat, Some inequalities for the polar derivative of a polynomial, Southeast Asian Bulletin of Mathematics. 34 (2010) 69-77.
- [8] K.K. Dewan, Naresh Singh, Roshan Lal, Inequalities for the polar derivatives of polynomials, Int. J. Pure Appl. Math. 33 (1) (2006) 109117.
- [9] N.K. Govil, G. Nyuydinkong, B. Tameru, Some L<sup>p</sup> inequalities for the polar derivative of a polynomial, J. Math. Anal. Appl., 254 (2001), 618-626.
- [10] E. Hile, Analytic Function theory, Vol II, Ginn. and Company, New York, Toronto, 1962.
- [11] M.A. Malik, On the derivative of a polynomial, J. London math. Soc., 1(1969), 57-60.
- [12] A. Mir, B.A. Dar and Q.M. Dawood, Some Integral mean estimate for polynomials, International Mathematical Forum, 8 (2013), 11,6 501-511.
- [13] N. A. Rather, L<sup>p</sup> Inequalities for the polar derivative of a polynomial, J. Ineq. Pure Appl. Math., 9 (2008), Issue 4, Art. 103, 10pp.
- [14] W. Rudin, Real and Complex Analysis, Tata McGraw Hill Publishing, (Reprinted in India), (1977).
- [15] A.E. Taylor, Introduction to Functional Analysis, John Wiley and Sons, Inc., New York, (1958).
- [16] P. Turán, Uber die ableitung von polynomen, compositio Math. 7 (1939), 89-95.
- [17] A. Zygmund, A remark on conjugate series, Proc. London Math. Soc., 34, 392-400, (1932).